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i, 1 L4
(a"—412-b")=(128) : Yx-2+¥sx-16=6
abezt x="7
a+bh="7
Ald B)6 OFf DyI0 E)12 A6 BIE OO0 D)I2  E)l4
2 s
I; 1 : |
Sy LI N R
: Va4 Va4 Va4
-
93 33 3
A) 720 B) 696 Cy116 A) = B) i o2
2 2 2
e
D) 20 E) 16 oy 3 B 53
2 2
3. .
0,3+0,7+0.7 _, ’ g TL 4 N0, 52000 ,
0,6-1,3+0,5 92004 L 52003 52002
A)—11 B)-9 c;% A) 2300 B) 220 C) 22
D) 220 E) 260
D)9 E) 11
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7. 9.
x*-2x-3 . X ox=2 o A=t 2x? rax—1
6x" +7x-3 2x" —x-6 B=2x"—(2a+1)x* +dx+1
AB=-42x" 4.
A) x+2 B) x+3 . x—2 a="
x—3 Ix—1 Ix+1
A2 B)-l ©2 D)4 E)5
x—3 x—1 - .
D) x-1
3x-1 Ix-1
8. 10.
nlx —y) + ¥y —x)=? 2-5
x(x — ¥) + ¥y —x) X _4 o o
A)(x—yN2x—¥)
A4 B)6 C) 10
B) (y - x)2x - ¥) ) ) )
C)ix—yW2y —x) D12 B 14

D) (¥ —x)x - ¥)

E) (y —x)(2y —x)
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11. o 13,
Ax—1)-3=4-3(2-3x) g v
Q r
F? o
4]
Ay -1 B C 3
) - )11 )75
»x
2 0
D 3 El /
[ )
f-2) =0
fi0)=6
f4)="7
A) 14 B) 16 ) 18
D2l E)24
12, N
fix)=mx’+6x—n ; f[2x+a:| = x:j
B X
fix, ) =f{x,)=0 f[3]=3
X =%, :
m.n=7 a=7
A)-11 B) 10 a9 . A9 B)5 )3

D)-& E)-7 D)1 E)-3



SORU KITAPGIGI
QUESTION BOOKLET

15.
log, 2= log,, &

x="7
1 —
A) 5 B) V2 Cy2
D) 22 E)4
16.
2 1

+ =17
log, 43 log 43

A) - B) 1 )

D) 2 E};

Ix-2

x=l

f[x}= dx+l , l=<x=4

lim f(x )+ lim f(x)=?

x=r]

A)22

18.

x=bd

D) 28

B) 24

E) 30

C) 26

E)5
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19.

dl
F[sz - 2x+3]=7

A)2x B) 3x

5 E) 10

20.

3z+2=2-3= |{=1

=
o
e
eyl
o
b | e

.f{x}= [2+&" —x - 1)

£1(2)="7

A 60 B) 34

D) 42
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3. 26.
L}
k-3
2x—RBldx="7 ﬁ[_]=ﬂ
‘! oot =2
A)O B) 20 C) 40 1 1 1
AR Bl g 1o
D) 45 E) 60
D) 17 E) 12
24, 27, an
i M<x<—, sin2x+sinx=10
—3-jt:nslxsmx1:bc=? 2
x="7
A) cosix+c B) sin’x+c A) In B) 5= C) had
6 14 3
C) cos’x+c D) sin®x+c
' 7 8
D) B) %

E) sin’ xcos" x+¢

25

—tanxdx _,
Inf cosx)

A) In|Infcotx) +¢  B) In|Inftanx) +c

C) Innjsinxj+c D) In/Infcosx}+c

E) In|In{secx) +c
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[Acpdi-s
|AD|=6
m[Af}B]=x
smx =7
|BD|=x=2
A) =7 -= C
) 3 ) 5 1
D) < E) - 5 1
13
D) = E)7
) 5 }

A) (AUBINC B) AV(C\B)
C) (AVC)u(CnB) D) AYBNC)

Ey (A ByuC
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a1 .
: A
C
5
o
A o 5 & B
<] .
-~ B3 D 6 C
|AD| <[ DB =6, m{A) 90",
m[CﬁE} =150°, [Bq=x =7
IAD|= 5

 BDF3  AMDO™
) 243 Bya3 213 [DCE6

A6 B2 015 D)8 E)30
D) 2439 E) 1243 ; ) ) ) ) )
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33. T
D A c
. 4
H X
, S 5 L
B A A
K L 3
A 77 B
m(AFB)= 60° m(&)=m(B)=m(C)=m(D)-s0"
m(CﬁLD}='Ql]° IDH| =4
=g =12 -
‘a"q =|Bq |CKl=x='?
AD[=7
A4 B)S  O6 DT E) &
A)S B)6 C) 43
A
D)5.3 E) 643 35.
[} F“ B
[
|AD} =12
a4
[oci =2/
AC1BD = |.a.]=_1:‘?
A) 12 B)4 C) 42

D) 6 E) &2
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36. ve 37. sorularda, |. gruptaki L II.
kiimelerin gekilleri birer rakamla i
gisterilerek Il. gruptaki sayilar elde
edilmistir. Soru igaretiyle belirtilen
kiimenin hangi sayryla gosterildigini
bulunuz.

1987 3189 7392
8723 9231

Te@maE
RO S
@8
L= = < R ]

In questions 36 and 37, the numbers

in group I stand for the sels of figures
in group |, when each figure has been
codead with a speciiic numeral. Find the :
number which corresponds fo the set : ODSA="?
of the figures indicated by the question :
rmark.

A) 1279 B) 1792 C) 2197

D) 7139 E) 9721
36.

L. 1I.

0 1234 2436 3651
4512 6145

- O
@2T ol
E® =D
o @&

FoOA="?

A) 1235 B) 2346 C) 3215

D) 4521 E) 6132
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39.

38. ve 39. sorularda, |. gruptaki E

sdzclklerin harfleri birer rakamla L IL.
gésterilerek Il. gruptaki sayilar elde PiDE

edilmistir. Soru igaretiyle belirtilen :

stzelflin hangi sayiyla gosterildigini i PEAH 1233 13643346
bulunuz. ; IDEH 4612 5462
: AHPT

In gquestions 38 and 38, ihe numbers HPED

in growo Il stand for the words in group E
[, when sach lafier has been coded
wilh a specific numeral. Find the
number which corresponds fo the word

indicated by the question mark. APDI=?

A) 1345 B) 1435 C) 3546
I. L.

SOPA :

KASO | | 6785 7458 7694 D) 4365 E) 5346
EFOS 8549 9456 :

KOPE

AKEP

SEKO=7
A) 4895 B) 5874 C) 6985

D) 7694 E) 9874
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41. ve 42. sorular asadidaki tabloya
Alajbjcjdie] géire cevaplayiniz.
afblcldlelal(x Ac)a(b'Aa]=d
bleldlelalnl ’ Answer the questions 41 and42
according lo the table below
cjldjefla|lb|c x=7
dle|alb|c|d
ajbjejdfe Tabloda ¢ igleminin gérevi belirlenmistir.
The function of  § in the table is defined.
Ala B)b O D)d E)e TS
Ly 2]3)4)|5
21210435
I|314|1)2)5
4141202115
S|5|5]|5)5|5
Ornekler:
Examples:
03=4
102=2

41.

(302)0(403)=2

A)l B2 O3 D)4 E) 5

42,

(x02)02=3 = x=?

Al B2 O3 D4 E)S
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+ a b [ X a h ¢
a a dc
b fi=C b a
C 5 |2a=8% C

Yukardaki toplama tablosunda a,
b ve ¢ harfleri birer sayinin yerine
kullarilmigtir. Buna gdre, a Kagtir?

I the addition table above, the leflers

a, b and o each stand for a number,
Accordingly, what is the value of 87

A)S BiG )7 Dy & E19

=
=

Yukaridaki ¢carpma ve toplama
tablolarinda a ve b harfleri pozitif birer
sayinin yerine kullamimigtir. Buna gére,
(a-b) kactir?

iIn the addition table above, the letiers
a and b each atand for a number
Accordingly, what iz the value of
ja-bj)2?

A)3 B4 O3 D)6 E) &

Yukandaki toplama tablosunda a, b ve
¢ harfleri pozitif birer sayinin yerine
kullarilmigtir. Buna gdre, b kactir?

I the addition table above, the leflers

a, b and o each stand for a number,
Accordingly, what is the value of b?

A)d B6 OF D)9 E)I2



SORU KITAPCIGI o 5
OR K TAPeIc! 202 2014 - |0YOS / TOBT
v &,
47.
Al || AlD| ] X|vio|+]=|O
mlalAl s |2 % WAl e AN A
w AR |0 = | A Ofe | A= |w ]|+ |
k| A B x| Ojw |+ [O[X]|X]
ojo|n|o|=|A|SD o (A A | ]V W
*| | O w] Al WKV [R|A .
slk|(@|O|n|B|A o ||+ [A[X[D]|A
1. 1I. I. 1I.
K|L ML : KK
LK N (K _ XL mﬂm
K=~ L=no M=7 N=7 : K=A L=v M=7 N=7
I ve Il yukandaki tablonun farkh birer | ve Il yukaridaki tablonun farkh birer
pargasidir. Buna gére, I'deki M ve : pargasidir. Buna gire, II'deki M ve
N'nin yerine asafidakilerden hangisi N'nin yerine agafidakilerden hangisi
gelmelidir? gelmelidir?
[ and Il are different pieces of the given 5 land Il are different pieces of the given
table above. According lo this, which of table above. According to this, which of
the folfowing should be puf instead of M : the following should be puf insiead of M
and M in 7 e and N in 17
M N i M N
A) =R : A) O =
B) + A B) X o
) . fast C) i -
D) oA ) . ¥
E) A e E) . |
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lA|lo|AlD]|m |+ : _
NOEODEE e l+(D-|®
MR E R ED f

ClA|B]= 0] = |4

e OB
E(w|O|+|m|B|A

slE|A|w|+] e | B

. = [e] 0 -[@
K|L LM

K|L N[K
K=o L=+ M=7 N=7
-4 B) C)
i ve 1l yukaridaki tablonun farkli birer 5
parcasidir. Buna gére, IPdeki M ve :
N'nin yerine agadidakilerden hangisi :
gelmelidir?
D) E)

land Il are different pieces of the given

table above. According to this, which of
the foliowing should be puf insiead of M :
and M in lf? :

M N
A) o
B) @ =
c . @
D) @ =
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Asafidaki pargalardan hangisi verilen

O C sekli tam bir kare yapar?
+ =
c O : Which of the following shapes can make
| B the given shape a whole square?
+ = i
H B
®l-la- M
=

A)

Bnuwmm
"l Fd Pl e
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54., 55. ve 56. sorulan agafjidaki sekle
gdre cevaplayiniz.

Answer the questions 54, 55 and 56
according o the foure below:

OB

Yukaridaki gekil a, b, ¢ ve d harfleriyle
gosterilen dart pozitif tam sayiyi iceren
baz iglemlere gére diizenlenmigtir.
Harflerin gdsterdifji sayilar her soruda
farkh olabilir fakat bunlarla yapilacak
iglemler her soruda aymdir.

The figure above s arranged according
o gorme aperalions which include four
positive whole numbers indicated by

a b,c and d. The numbers that each lefler

indicate can be different in each question,

but ihe procedure fo be done is the same
in all queasiions.

Yukaridaki verilen gsekle gére, K kagtir?

According to the given fgure above, what
is the value of K¢

A)3 B) < C)

ba | —

D)

E)2

K="
Yukaridaki verilen gsekle gre, K kactir?

According to the given fgure above, what
is the value of K¢

Al B2 Q4 D)5 E)9
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56.

K=?

Yukaridaki verilen gekle gdre, K kactir?

According to the given figure above, what
ig the value of K7

A)l B)2 )3 D4 E)S
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57., 58. ve 59. sorulan verilen iliskiye
gire cevaplayiniz.
Answer the questions 57, 58 and 58

according (o the relationship given in the
example.

Ornek:
Exarmpla:

2 ®D L
e"@e’)(

A, B, C, D ve E harfleri I. sekildeki
gibi birbirine baglanmistr. |. gekildeki
baglanti sayilan ve birbirine baglanan
harfler defjigmemek koguluyla Il. sekil
elde edilmistir.

The lefters A, B, C, D and E are connected

o each other as it fs given in the figure
I Figure Il is oblained without changing

the nurmber of connactions and tha letfers

connecied.

Il. gekilde X ve Y nin yerine gelmesi
gereken harfleri bulunuz.

Find the letfers thal should be put instead
of Xand ¥in the figure I,

X Y
N B C
B) E C

C) B A
D) D E
E)} D C



58.

¥ e
s e an: z04_10rCs 1ot
! .(.r ;li.!. '\"‘_.
59.

Il. gekilde X ve Y nin yerine gelmesi
gereken harfleri bulunuz.

Find the letters thal should be put instead
of Xand Yin the figure I,

X Y
N cF
B) B F
) D E
D) F C

E} B E

Lot

L IL.

Il. gekilde X ve Y nin yerine gelmesi
gereken harfleri bulunuz.

Find the lelfars thaf should be put instead
of X and Yin the figure 1.

X Y
N oA C
B) A B
C F B
D) D C
E) E F
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Yukaridaki terazilerin lgil de dengede
olduguna gére, lll. terazide soru
igareti agagidakilerden hangisini
gdstermektedir?

All ihree scales above are in balance.
Accordingly, which of the following doss
the question mark sfand for in the third
soale?

» 000N ) @AANR
C) AAOD® D) HH@®A
gy HAR

Yukaridaki terazilerin {i¢li de dengede
olduguna gbre, . terazide soru

igareti agagidakilerden hangisini
gdstermektedir?

Al three scales above are in balance.
Accordingly, which of the following does
the question mark sfand for in the third
scale?

A) HAA® B) HAG®@®

c H00® D) AOO®

gy HANA®
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Azafidaki gekillerden hangisi farkhdir?

. : Which of the following figures s different?

B @ &
O B

Azafidaki gekillerden hangisi farkhdir?
Which of the following figures s different?

-

Yukaridaki terazilerin l¢il de dengede
olduguna gére, lll. terazide soru
igareti agagidakilerden hangisini

A B) C)
— E . .
Al three scales above are in balance, ' '
Accordingly, which of the following doss : w

the guestion mark sfand for in the third

scale? D) E)
n @ON B OAAA
c 1N D) AAG® .

ERAA®
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A) B) C) A . :
CICIORFZINES
LA bl b
D) E)
D) E)
CROURENS
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1. V.
A) B) )
» » /N O | o
D) E)
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09,
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Ak BTy

W

guk L.

e

oy
FIew

70.

' 1. L. v,
%Aé & -r-r ?

A) B) C)
5 7
6 X7 5% 6 7
8 8
D) E}
7 7
6 %5 6 X 8
8 s
71.
3 7 10 13
4 12 84 / \ 840

A) XK=, Y=34a0

B} X=l6, Y=10920

) X=32, Y=21840

D) X=64, Y=3460

E) X=4, Y=10920

T
(]
L]
=

i
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73., 74. ve 75. sorulan agaijidaki . ——
drmede gore cevaplayimz. :
Answer the questions 73, 74 and 75
according to the given sample.
’
y
— * l
A 100 BE) 102 Cy 104
D) 108 E)} 11D

T3. T4, e
£
- w D
’ -
) || | |
+
-
A) a4 B) 43 a6 A) RO B) 82 C)B6
Dy 47 E) 48

D) 90 E) 94
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Asafidaki gekillerden hangisi farkhdir? : Asaijidaki gekillerden hangisi farkhdir?
Which of the following figures is different? Which of the following figures s different?
A)

B)
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A) B) C)
o é o
D) E) :

V SO X=1, Y=6 D) X=8, Y=2

A) X=7, Y=9 B) X=2, Y=5

®
E) X=4, V=1
80.
ilel1]2]g&]3
QI 2119
1IEEBEE
2l1|9f3|&]2
1391|218
3lal2]1|9]3
A) B) )
813 3 2
8|2 2 3
D) E})
2]8 BB
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42

43

46
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